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M- F2 SR (3) - HIRAY - B e arey G {imE=Eh
2t ZEAMY 714,400 800,000 85,600
& 350,000
Al 364,400
201 LEH2HH| 14,400 0 14,400
02 =234l 14,400 0 14,400
Os3e2= 14,400
401 Al&HIZL=ROHYI 700,000 800,000 100,000
= 350,000
Al 350,000
01 AlZHI 695,590 783,120 A87,530
O0rtd 2 700,000,000& *99.37% 695,590
= 350,000
Al 345,590
03 A&S20HYI 4,410 5,040 2630
O0rt3 2 EFHX 700,000,000 *0.63% 4,410
OiCHs &d st 51,800 75,700 A 23,900
201 LEH2 | 10,000 9,400 600
01 At 2t2lbl 7,000 6,400 600
@E=:N = 7,000
HZ A 1,000
=2 1,000
ol 5,000
02 3=l 3,000 3,000 0
@E= N =, 3,000
D Eagy=" 2l 1,500
Jtot 1,500
206 M=l 2,500 0 2,500
01 M=Hl 2,500 0 2,500
OZ0tE Me M 5,000& 500 2,500
301 YptEasg 38,100 35,100 3,000
08 2IeI=& 0l 7,500 7,500 0
Odl==2t0t, 3l2IINE LEXH
1,500,000& »5& 7,500
12 JIEtE o= 30,600 27,600 3,000
CotE 30,600
2 At 25,600
HAZA 2,400
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307 2120l & 1,200 21,200 220,000
05 2IIRAE =S 1,200 1,200 0
OEHME2 f3dEd 100,000& «12& 1,200
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101 el H] 5,199 3,988 1,211
04 JI2tHIZ2E2ENEE S 5,199 3,988 1,211
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01 MHZ bl 2,250 1,800 450
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02 33234l 4,360 0 4,360
OZ2222 2 WAl 4,360
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01 Al&H| 25,000 90,000 A65,000
OX2IMASY SBAM X
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01 WY 4,250 4,500 A250
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S E=dS 2,893,382 1,917,555 975,827
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& 957,928
Al 1,012,302
SE 23N 2=8H| 2,790,582 1,813,355 977,227
= 923, 152
= 913,078
Al 954,352
HSANE BEXNA 180,000 505,000 325,000
3 90,000
< 45,000
Al 45,000
402 QI2tXE01 A 180,000 505,000 A325,000
2 90,000
= 45,000
Al 45,000
01 QIZ2tX}=2E8=x 180,000 505,000 A 325,000
OTSAN g L B2 =S 180,000
= 90,000
= 45,000
Al 45,000
=IINE 2 243 1,153,857 305,000 848,857
= 807,700
& 173,078
Al 173,079
401 AIEHIZ 20| 1,153,857 305,000 848,857
= 807,700
== 173,078
Al 173,079
01 Al&HI 1,145,007 302,660 842,347
OAAMANNMNSHE B 50,000,000 *99% 49,500
= 35,000
< 7,500
Al 7,000
OAMAIY A =HFU| (M)
42,857,000& *100% 42,857
= 30,000
= 6,428
Al 6,429
OAAMAMYA =Y ()
20,000,000 *99% 19,800
= 14,000
T 3,000
Al 2,800
OAMMNLI FHHU|(ZHETER)
15,000,000 *99% 14,850
= 10,500
& 2,250
Al 2,100
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= 30,000
Al 28,600
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200,000,000% +09.3% 198,600
= 140,000
= 30,000
Al 28,600
OMYAMAS B4 30,000, 00024 9% 29,700
= 21,000
= 4,500
Al 4,200
OAIMAFOES 2 BT 100,000,000 #09. 1% 99, 100
=2 70,000
= 15,000
Al 14,100
OSH=ARIAZUL B4 20,000,002 +99% 19,800
= 14,000
= 3,000
Al 2,800
OZ®4 FUIHE 28 50,000,008 *100% 50,000
= 35,000
= 7,500
Al 7,500

OXIHRIOHONOI 2N B A =B R Y|
20,000, 0002 *9%% 19,800
= 14,000
= 3,000
Al 2,800
OMZ A THHZXIAY  60,000,000%+09. 1% 59,460
= 42,000
= 9,000
Al 8,460
OSATH WHLXIAY 60,000,000 +09. 1% 59,460
= 42,000
= 9,000
Al 8,460
OAMAF T XA 60,000,000 %09, 1% 59,460
= 42,000
= 9,000
Al 8,460

O ATHHYIX T X ALY

60,000, 0002 %99. 1% 59,460
= 42,000
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< 9,000
Al 8,460
OAM AT THLHE X ALY
60,000, 0002 #99. 1% 59,460
=2 42,000
= 9,000
Al 8.460
ORJIIEILIR 2S A 3,000,008 *100% 3,000
= 2,100
= 450
Al 450
OX2lat@EEds 2SA 3,000,000 *100% 3,000
=2 2,100
= 450
Al 450
03 Al& = CH| 8,850 2,340 6,510
OXMANBAE 24 50,000, 0002 *1% 500
OMAAIL @ FEFHI(LZ) 20,000,000 1% 200
OAMMAMYR FHTH (FLHEER)
15,000, 0002 *1% 150
OMMAMAR FHTHI(SEX)
100,000, 0002 *0. 9% 900
OA AR FBITYI(AAH)
200,000, 00024 %0. 7% 1,400
OMMAMYLR FHTHI(STA)
200,000, 0002 %0. 7% 1,400
OMMMAS B4 30,000, 0002 *1% 300
OAISFAFRFAQH ZBITH| 100,000,000 %0. %% 900
OBt AR 2 24 20,000, 0002 %1% 200
OXIH IO O 2B =BT T b
20,000, 0002 *1% 200
OHZAF THEHEXI ALY 60,000, 0002 +0. %% 540
OSAM ML XA 60,000, 0002 +0. %% 540
O& AL THEHEEXI ALY 60,000, 0002 +0. %% 540
OZAHFUIX T X AL
60,000, 0002 +0. %% 540
OA A AP Z O T2 X ALY
60,000, 0002 %0. %% 540
SRS 24Ty 1,390,000 854,000 536,000
= 695,000
Al 695,000
401 A& 1,390,000 854,000 536,000
= 695,000
Al 695,000
01 Al&H| 1,379,126 847,116 532,010
4l 24 15,000, 0002 9% 14,850
= 7,500
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A 7,350
OOISSI UMY+ F Y|
5,000, 0002 * 100% 5,000
= 2,500
Al 2,500
OHSYHEIA FHFY|
180,000, 00021 %99 3% 178,740
= 90,000
Al 88,740
OB B4 280,000, 000! %99. 3% 278,040
= 140,000
Al 138,040
OYUHYRT HAS S+ 52,000,0002 %99.3% 51,636
= 26,000
Al 25,636
ONZYHETY FBFY|
78,000, 0002 %99. 3% 77,454
= 39,000
Al 38,454
O3 FHIY| 32,000, 000! *99% 31,680
= 16,000
Al 15,680
OJNHASEON Y B F bl
60,000, 0002 %99. 3% 59,580
= 30,000
Al 29,580
Ozlg FHIY 6,000, 0002 * 100% 6,000
= 3,000
Al 3,000
OoEt 24 30,000, 000! *99% 29,700
= 15,000
Al 14,700
OBYANEEHEY 24 40,000, 000! *99% 39,600
= 20,000
Al 19,600
osxelE 24 62,000,000 %99. 3% 61,566
= 31,000
Al 30,566
o2m 24 20,000, 000! *99% 19,800
= 10,000
Al 9,800
OEUA 24 20,000, 000! *99% 19,800
= 10,000
Al 9,800
OZHNR 24 140,000, 00024 *99. 3% 139,020
= 70,000
Al 69,020
OSINE B4 70,000,000 %99, 1% 69,370
= 35,000
Al 34,370
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ORIENME =HEHHI 10,000, 000& *100% 10,000
= 5,000
Al 5,000
Oz =HEHHI 100,000,000 *99. 1% 99,100
= 50,000
Al 49,100
Oggn =HHH| 90,000,000& *99. 1% 89,190
= 45,000
Al 44,190
O AMEH F=HEHHI 50,000, 000-& *99% 49,500
= 25,000
Al 24,500
OF=F=AM& =HFHI 50,000,000 *99% 49,500
= 25,000
Al 24,500
03 AIE=20Hl 10,874 6,884 3,990
OEl+=&dE=+ 15,000,000 * 1% 150
Odsd& =34 FHEH|
180,000, 000& *0.7% 1,260
O=gMits B 280,000, 000& *0.7% 1,960
OLURR SE2= 2+ 52,000,000& *0.7% 364
O ZdLd=Rar =HEH| 78,000,000& 0. 7% 546
O3gM =& 32,000,000 *1% 320
ONE M0 =HEHl  60,000,000&*0.7% 420
oz 2= 30,000,000 *1% 300
OEYMESHE E= 40,000,000 *1% 400
ogxlel=it B+ 62,000, 000& *0.7% 434
oxeld E= 20,000,000 *1% 200
O3 LA E= 20,000,000 *1% 200
OBHAME E= 140,000, 000& *0. 7% 980
OBENME B 70,000,000 *0.9% 630
O g =HHH| 100,000, 000& *0.9% 900
Ogdgu =HEYI 90,000, 000& *0.9% 810
O3 AMEH F=HEHH| 50,000,000 *1% 500
OF=F=AM& =HFHI 50,000,000 * 1% 500
oM Eg2eldl XN& 36,360 19,650 16,710
= 25,452
Al 10,908
101 elH| 36,360 17,100 19,260
= 25,452
Al 10,908
04 JIZtHIZ22 s+ 36,360 17,100 19,260
O2sM sg2el XA (=S AKX, ZAHHA B
JEHEA HESXI0E AT, Xela dESE) 36,360
= 25,452
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A 2EN 2EMS
°$Hel: REEM E=FH| EH)
S - MM .CQ(FH) - MBAIY - BAS Al OH &EIE =2}
- o= ° I T ° . (= (=3 =5 0:”/&,% ==
| A 10,908
22t 22l 30,365 125,645 295,280
101 elHH| 2,443 3,665 AT,222
04 JIZtMZ22XSE+ 2,443 3,665 NT,222
OXNE % HIXE 23t 2tel
38, 1703 »2ZH 3200 & 2,443
201 LEt23d| 14,772 16,800 A2,028
01 AbR22lH| 12,000 8,800 3,200
O3 saHd 820t &8+ 9,450
SAHZF IS 70,0003 x3E *273] 5,670
SERIM S 42 70,0003 *3Z x183] 3,780
OSEZ2M EI|HE=2=Z (31IHA) 2,550
02 23234l 2,772 8,000 ANb5,228
OSZZMUtE 2L AIAE 2223
231,000& =12 2,772
202 Oidl 3,970 4,000 A30
01 =LA b 3,970 4,000 A30
OZstMsAel 8 ¢l 3,970
301 et2 4= 9,180 9,180 0
12 JIEtE43 9,180 9,180 0
OZ3M s=2cle 243 9,180
=30l 45,0003 x6H ~12& 3,240
Zelel 95,0003 +x3F +12& 3,420
2 A2l 30,0003 +x7H+12& 2,520
2o 2K 102,800 104,200 A 1,400
& 44,850
Al 57,950
SEIAM d=83 L SHEAM 101,800 103,200 A 1,400
& 44,850
Al 56,950
301 L2 AZ 101,800 103,200 21,400
= 44,850
Al 56,950
12 JIEtE2 43 101,800 103,200 21,400
OEXNH RE2M d+-2sH(HUERA2Y
700,000 x2F 12 16,800
& 6,720
Al 10,080
OZXE RE23M d2&H(7Y)
700,000 x7E «12& 58,800
= 23,520
Al 35,280
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OZXE RS2 M=2SH|(SHH)
500,000 * 10 S+ H| * 122 6,000
[= 2,400
Al 3,600
OSXE L2 M2TE2(7H)
100,000 x7H * 122 8,400
[= 3,360
Al 5,040
OSXE P23 ZIHEHAHH| (6F)
1,500,0002 x6 % 9,000
[= 6,750
Al 2,250
OZXE S5 ZHSAHI(EHA)
2,800,000 *1JH St X 2,800
< 2,100
Al 700
HEXZ=E ML 29 1,000 1,000 0
307 QI2to|A 1,000 1,000 0
02 QIZHHEAER 1,000 1,000 0
O HERH M4 29 1,000
Hs 245t 2,410,027 7,563,719 25,153,692
b 97,632
[~ 67,793
Al 2,244,602
MSIEAE &= 671,594 6,297,903 A5,626,309
HSAEES X2 561,494 537,220 24,274
101 Q14 27,504 33,695 26,191
04 JIZHH22XSE 27,504 33,695 26,191
O &OUE>=HMA
38,1702 *0.27/100m x50, 623 M *23] 10,435
O ZCIZETCI2D
60,54024%0.09/100m 50,623 M «23| 5,517
O ==d=diegHl 60,5402 +2 %3 4 3] 485
O X4 Y OPMSIAI ==Y
38, 170« 10K *43| 1,527
O F=HHEI = 60,5402 +52 23] 606
O 2SHSHE MM 38,1702 %10 +33] 1,146
O 2EHSHE ZCI2D|
60,5402 0. 27/100m %7 ,000m %23 2,289
O S2EHSHEH A O=2H2 %A
38, 1702 x123| 917
O 2HSHH A SAIQE 38,1702 +60Y 2,291
O AUHSZ HA A8 38,1702 +60Y 2,291
201 LBr2YH] 114,380 66,880 47,500
01 AFR2t2lH] 25,000 16,500 8,500
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A 2H=1

r
Hu: HE B3
E

Chel: MISIIBAIE B3 EEE-E)
A - HE - S9I(E) - NRAY - BYS sk e 2t
O MSAE st&Ea X2+ 500,000 «64 2 3,000
O HMSAE &0E X2l
1,470,000 204 2~ 2,940
O HSAE M=&Y A= 1,710
O 2aM=HdE et 980
O MSANE A2 B+ 6,370
SEHMEAME 980, 000& *5I4 A 4,900
. OISEAMSAIE 98,000 * 154 A 1,470
OaUlids2 23 10,000
LBt=ZH| 3,000
A& EHI = XI8 5,000
SHEA SX 24 2,000
=223l 89,380 50,380 39,000
O HMEANL(Z2Z2HsS3 0UENEH) &
ea 1,600,000 204 A +128 38,400
O QRRFEX =s7& &8I|I3 130,000 +12& 1,560
O 2RI E FUSUZ HIIRS
45,0002 x 128 540
O zE=Ms332 dJIgdEE=
280,000& «12& 3,360
O S2SMSsHE dIEEHER
170,000 «12& 2,040
O Z=N=3E dot=e=
250,000& 128 3,000
O BSHMSANEE MARE2(28)
500, 000& »23] 1,000
O MEAMEEUNsSa Ee=ds3d 23N
FHH) TV=dE 40,0003 x 122 480
OCaUN=s2 28 3E5=24H| 39,000
== 2,900,000 x12& 34,800
ot A= 1,200
ot 3,000
(Gl=] 6,610 6,500 110
=0 6,610 6,500 110
OHM=sAE & 72 6,610
WL 12,000 10,000 2,000
24l 12,000 10,000 2,000
O =SS, 2adSsHEY , et sSetd
&, AdUlid=s2 M=l 12,000
O €& 1000W 100, 000& 104 1,000
O E& T 2500 30,000& *604 1,800
HE & 4000 50, 000& 204 1,000
HEerE Il 2500 30,000 »47H 1,410
HIECHE Il 400W 50,000& 204 1,000
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M Z3M=sH

Hu: HE B3
E

ol HSIIBAIL S5 (S92
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 il b o bRz
Ol =t 0FE D1 000N 100,0002 * 1074 1,000
JIEH FIIR K 2,000
=82 15,0002 *30F +33] 1,350
as, 42H 12,0002 %25 * 5% +43] 1,440
307 212t0 H 6,000 3,600 2,400
05 212913 6,000 3,600 2,400
O 2SBHSZ SAHSHE A24AFINF
2012 100, 00021 x374 A #1284 3,600
O AUMSE 29| 200, 0002 * 122 2,400
401 AIEHIL2CH] 215,000 405,945 £190,945
01 Al 213,065 404,094 £191,029
O HUHSD OIS (RYHGT) SXBA
20,000,000 %99. 1% 19,820
O OISl MERHSAIE (MBIIT) &R AY
75,000,00021%99. 1% 74,325
O ZBASAE R4 (PO0L)
35,000, 00024 +99. 1% 34,685
O DISE9 MEBHSAE SN2
15,000,002 #99. 1% 14,865
OZ2F &X(RUE,EY)
70,000,0002 +99. 1% 69,370
03 Al&=THHI 1,935 1,851 84
O AUHSD OIS (RYHGT) SXDA
20,000,002 0. 9% 180
O DHSS9l MERHSAIE (MB0I7)EXAY
75,000,00021%0. 9% 675
O ZBASAE R4 (PO0L)
35,000, 0002 +0. 9% 315
O DI2E9 MEBHSAL SN2
15,000, 0002 0. %% 135
OZ2F &X(RUELEY)
70,000, 0002 %0. 9% 630
402 PI2EXHEZOIH 100,000 0 100,000
01 DI2R=EE 100,000 0 100,000
O MEHSAL Hi224012 0IFE T4 100,000
405 THAHE St 80,000 10,600 69,400
01 XML SEFHSH) 80,000 10,600 69,400
O MUMS2 ¥3 2 FII8E 2(FII, 4
O, OIXt, 25HE) 30,000
O AUMSE 28BS 7Y (57 HERIE, 2
SOHHE) 50,000
£33 US3Y =IXY 87,000 100,000 13,000
401 AlEBIZ S ThY 87,000 100,000 13,000
01 Al 87,000 100,000 213,000
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M Z3M=sH

Hu: HE B3
E

ool HMSIIBAE &5 (e @
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ol AF o8 HwsZ
OZE3 BIUAT & 87,000
V20 RET 2Y2rel 23,100 22,700 400
201 Ygreg| 8,200 7,000 1,200
01 AtR2elt| 7,000 7,000 0
O0l2I0l NEZY AR2lt] 5,000
og=llE 2228 2 2,000
02 ZZ2H| 1,200 0 1,200
OOZI0IRETY SHOIX KX
10,0002 * 1224 1,200
207 SRl 5,000 0 5,000
02 Z AN Y] 5,000 0 5,000
ORST2IBHL(SSAME) 5,000
301 YA 7,500 7,500 0
12 JIEtE A2 7,500 7,500 0
ORNAZAT REH L S|
15,0002 *22 x2502! 7,500
307 212+0IH 2,400 2,400 0
02 QIHHARE 1,200 1,200 0
ORABAR 22=2(S2)MH
120,000% *10% 1,200
05 DI2tSIErD 1,200 1,200 0
OO0 REI LAY 8
10,0002 124 1,200
MBS S4 326,913 267,916 58,997
| 97,632
= 36,793
Al 192,488
MBS0 29 36, 100 19,898 16,202
= 10,830
Al 25,270
307 2120l H 36, 100 19,898 16,202
= 10,830
Al 25,270
05 DI2tSIEr2 36, 100 19,898 16,202
O MEHSDA 29 36, 100
= 10,830
Al 25,270
MEBHSXTR HIXI AL 125,568 125,568 0
| 62,784
Al 62,784
307 2120l H 125,568 125,568 0
| 62,784
Al 62,784




M Z3M=sH

I Hs 243
Celr MBS |4 (e e
= X o = = 1 II_-I|_|;=|_|I:_ =
Ao ZH . oR(B0) - NRAY - BYS Ao 0l At o HRE2
05 BIZtRAE =S 125,568 125,568 0
O dEM=XSXt i 125,568
) 62,784
Al 62,784
Hza Msgs XA 41,856 20,928 20,928
Jl 20,928
Al 20,928
307 elztold 41,856 20,928 20,928
Jl 20,928
Al 20,928
05 BIZtRAE = 41,856 20,928 20,928
O o2dl SEMIATA BHRIAN 41,856
I 20,928
Al 20,928
Fad SFUA 23 8,400 8,400 0
= 2,470
Al 5,930
307 212t01d 8,400 8,400 0
S 2,470
Al 5,930
05 QIZtRE = 8,400 8,400 0
O gaE=3D4 8,400
=S 2,470
Al 5,930
MEMZWY 29 36,200 22,200 14,000
= 6,510
Al 29,690
301 etEd= 36,200 22,200 14,000
S 6,510
Al 29,690
12 JIet24= 36,200 22,200 14,000
OBINEK 2 33,200
= 6,510
Al 26,690
OtoisE HEDA 25,0002 x2% *60 3,000
dEHs S22l 50,949 45,536 5,413
= 16,983
Al 33,966
307 2iztold 50,949 45,536 5,413
= 16,983
Al 33,966
05 QI2teletz 50,949 45,536 5,413
O Mgls =50 50,949
s 16,983
Al 33,966




M Z3M=sH

I s 245
creln MBS |4 (el @el
_ _ - NEc
SA B CRA(BA) - MRAY - BES Off &4 o 0l A o1 HRE2
ALXHIH AlYAL 27,840 0 27,840
g 13,920
Al 13,920
301 YerEaa 27,840 0 27,840
g 13,920
Al 13,920
01 APSI S E X453 27,840 0 27,840
OAZXGI2 XA AFE 27,840
| 13,920
Al 13,920
NEAIR 29 223,300 220,300 3,000
= 31,000
Al 192,300
NBHIR (=) 22 X 223,300 220,300 3,000
= 31,000
Al 192,300
301 Yeraa 223,300 220,300 3,000
= 31,000
Al 192,300
11 olsee - esRsEaa 223,300 220,300 3,000
O HyAIIR 29 223,300
€ 31,000
Al 192,300
HMEHA HE L X & 1,188,220 777,600 410,620
HMEHA 29 X2 1,079,070 719,000 360,070
201 Yyt 20,500 20,500 0
01 AFR22lt| 4,500 4,500 0
O HSEANY 228 S| 2,500
O MarEHl A2 1,000
O 849 o 222 M=% 1,000
03 A2 I 16,000 16,000 0
O HSHA X& 16,000
202 01t 6,570 3,000 3,570
01 =LHoIHl 6,570 3,000 3,570
O HMSHA 21 F& 6,570
301 YerHe a3 1,000 1,000 0
10 BAFAHIE A 1,000 1,000 0
O HMSHA TASAIL SAY|
5,000 x50 *43| 1,000
307 212+0l® 1,051,000 694,500 356,500
04 DIZHAIEE 1,051,000 684,500 366,500
O 473 Het==oIMSU 3 110,000

_20_




M Z3M=sH

I HS 2L
ol MISEAM HE 2 X CERL
RA B SA(BH) - NRAY - B 01 e HRE2
O H213 HAZZXADI HEHSHS 50,000
O ®2 ¢ TH9 MSHE 2 N 10,000
O M33l AHEIE H=2EH3 10,000
O AED| AEM8(52 Bloole &2 52
S 1052) 50,000
O H213l SH0I2HENS] 5,000
O 2010 Z0je! HEH3 7,000
O 2010 &= 02 HILIA (8l 5,000
O H2SE HATHIAII| 2 26 (H2)UE
BOLERS 20,000
O M2 ASHS(D TYE UM £3) 20,000
O 2010 282 M2 SSOIEHUA U3 15,000
OM1SI L /AZII H658 B2 2.0f 2043 40,000
O 2010 B2i0t @F =/ oltoISe| £ 2
S.z2E 03l 220,000
O M35 ZH M= SLIEH3 15,000
O NelHgHs =2 70,000
O ARITHEHER Th3] 20,000
OM253] MAELEIZI| 2% M Sl 22010
ANSS Y3 20,000
ORCIMEHS HESIZA WEHS 20,000
OFZ0IL BH2TH3] 80,000
OSSUSPBEYVI| YRS 80,000
O#.5.2 MUY Sor2 S2H3 80,000
OFISEAAI Al HTE MEHSH
5 4,000
RIS SA &L 29,950 33,600 73,650
301 LerPa 29,950 33,600 73,650
DETTERE 29,950 33,600 £3,650
O MRS MSHE By
0,0002! *25% x53] 5,000
O B9 MSHE &o2a
30,0008 * 152 #153] 6,750
O ®2 2 SE9 HOESHS &I}
40,0002 +20% %63] 4,800
O HASEXAD| HEE MEHSH &0} 4,400
HAEE 40,0002 * 122 +5 5 = 2,400
IES0IE HEHE 40,0002+ 10652 2,000
O ZOHIHMS0E &It 6.000
NAHZOHe! HMECHal &t 3,000
SOtIHISCHEl &t 3,000
O 243 DAWRHE &b
30,000 * 1024 103! 3,000
HMSEH X e 79,200 25,000 54,200
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M Z3M=sH

g M= gdst
Chel: MSHAL N2 & X2 (etel: =3
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2

307 2I2tol & 79,200 25,000 54,200
02 2ItBAE X 79,200 25,000 54,200

O SEAMA=E XNEAE 79,200
HY 2L ZHI(2 M=) 105,516 64,635 40,881
el 2HHI(23 M=) 94,076 44,095 49,981
AR IHI(23 M=) 94,076 44,095 49,981
101 1A H] 89,876 39,895 49,981
03 RIIHAZZNE S 89,876 39,89 49,981

OtZ0IsHA (1Y) 34,544

l2as 1,030,080& 1« 123 12,361

HRIMEHI 12,360,960 *1.6% 198

Jlgg 1,600, 0803 » 12 x200% 3,201

2+ 1,600, 0803 » 1 »15%+23] 481

M eS| 1,600,080& » 12 x250% 4,001

ItE=E (IR 40,000 x1H +128 480

=g (0IEH 20,000 x3H *12& 720

S 90,0003 «1H ~12& 1,080

AT AY 70,0003 «1Z~12& 840

A ZAH| 160,000& 1 »12& 1,920

JHHI 2 =4I 110,000& 18 =122 1,320

M=y 140,000 «1H <128 1,680

S EF O 1,600,080 » 1 «120% 1,921

ANZ2te 28 10,620 x10Al 2+ <128 1,275

5222 85,725 x2Y x12& 2,058

HiAm=FIt 57,1503 x1H +15& 858

o=l 150,000& «1H 150

OANEEAM2 Zel(1Y) 20,302

RSy 38, 1703 2532 9,658

a0z 9,657,000& x4/12& 3,219

Al 2HRl =G 4, 7713 %1.5%15A1 2+ 128 1,289

T 38,1703 x52& 1,985

e 38,1703 =1.5+52 2,978

EPNES 38,1703 15 573

. GES0H 300,000& =23 600

Oss&asz 2el(1Y) 17,515

OXlelarA3& 2el(19) 17,515
203 ¥R =& 4,200 4,200 0
04 RA2SERF=LH| 4,200 4,200 0

ORAM2E ZRF&| 4,200
Jl2ZHl(2a M=) 11,440 20,540 9,100
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SN
X XH .
S Tt

el

SA-EFH - SA(SAH) - MREAY - BES Off &F OH %Eﬁiﬁ BlusZ

Jl2ddl (2 =) 11,440 20,540 29,100

201 LEH2HH| 5,440 5,440 0

02 3224l 5,440 5,440 0
O&232= ¥ HMAl 5,440

202 Oddl 6,000 14,300 /8,300

01 WY 6,000 14,300 /8,300
O2H=l dRF8 0] 6,000

HWRES(2SHS) 180,000 180,000 0

SBEXNE (2 SH) 180,000 180,000 0

SBENE (23 =) 180,000 180,000 0

311 Xt =0l ktatst 180,000 180,000 0

06 JIEtXHY SO0l A&t 180,000 180,000 0
OdUd=s2 A 4,500,000,000& * 4.0% 180,000
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